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0 decide aboyt the nit. In fact the break-even analysis is a tool. in the
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;{ . The total cost is equal to a o "”'\bl'c Lost. i { .
a sum of fixed cost and variable cost; fixed costs are those costs

which do not vary with ¢ I

\ ary with incl) .

tevest a S ):m m t(l)\t(l: ?l:ltlput. hey are fixed, they include costs on level building machinery rent

include costs on raw mat m ]_".‘".(! \;ilrmblc‘c()st‘s are those that vary’ with’ production (output). They
aterjal' input. Payment made.to flow of services. The total revenue (TR).is equal
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E‘- S ‘Thex'e are two'approaches to representing a brealeven point * - - ' . . L
i:' . ' 1. Thg graphiéal inethod, where one takes the help of break even chart; and
e 2. The algebraic method o ‘ 2
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breakeven® point cost and the volume of

Brea}:(-ev'en chart is a graphical representation showing the
profit relationship-at different level of activity. [t is-a device which shows the relationship between sales
‘value, marginal cost dnd fixéd costs-and profit or loss at different level of production -or, sales. The

intersection of tota] salesline-and total cost line is called the breakeven point.. N

Break-even chart shows the.following;- L ""5'-_ %
(a) Profit and expenditure analysis. _ : S SRR

(b) Cost volume profit relationship and breakeven point.

(c) Profit volume ration and margin of safety. ' B :

(d) Change in level of sales and its impact on cost and profit. it

.~ The B.E.P. of a firm.can be found out in terms-of physical umits i.e. volume
be explained with help of foligwing illgstration: 3
- assume,,a firm produces 600units and incurs costs,as

of output. The BEPLm\

follows fixed cost Rs 200/- variable cost Rs VS

' per unit. The selling price is Rs1:50 per unit. The break-even point'in this case willbe - e
.. L FChT 200’
BF.P=— . — = ————————  =200£0.50 =400 UNITS ~
- . SP-V(PER UNIT) | (Rs. 1.50-1.000.50) - '
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From above-table we-can see that w
\When the ontpiit is 200 the tot
Rs100/- as différent between 400-:
Rs 1.50 thé total cost equal to total revenue Rs’
there is no profit or loss. This is the bre
firm is making profit. _
This is illustrated in this figure:- ,

, !
“The sales volume at 100
schedule and  a graph

wnits(@ 1.50

shall be: Rs 600/-

Productio | Fixed Viriable  Cost [ Total . ,Sa',‘,;sm@'ng,
n- Cost @) .| cost

Uhits (F) Rs. Rs 1/unit’ (F- V) 1.50 /uniit
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al cost. is Rs
300 is Rs100.

heh input is zero the firm ini
400 and volume of sales ‘Rss00/--
At the level of output 400 units and’ sales of 400 units.at
point the firm is workmg at a point where"
from the level of' 500 units of output the

600/- at this
al-even point (bep)

!
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curs only fixed cost under total cost .
The firm incur loss of
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i [n this bre‘ﬂ(-even chart, ' 0 | i %
~_ “cost constant at all level of‘I;StlliltO:‘\i S (ml Ill(vnlne k. |
unit ofoutput up to 400'units Stout
* higher level ‘than ‘sales: yalug: This |
_ profit as'sales value c\cecds pec
~ profit It is.the brmk-cv
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vq) and total coastline .since toml lme(,l

tis paralle

: : [;;'nnlkl to X-axis f‘rom the figur,we can see the BEP hc at 400
pu l\c flem will be i Incurring loss in all units of outputs a5 “I'Cis at.a,

18" ¢ca lcd Inﬂ 2one beyond 400 units of nurput the firm, is reahsmg

i 1 at . 10)0 unit of i inputs the firm is neither incurring loss nor m.\kmg an)
B Omt (BP P) orno ])I ofit no loss point nfpro(lucuon :

ﬂgcs ot lmm, blcak even nn.\lywls in m.umg eable decision making can be the

It helps in dclexmmmg the optnnum level of output. | “ 1

It helps m deter mmmg the tar get capacity for llrm to t,¢'-‘ the benefit of mmnnu.n umt cost
of production Yy

With the help of the bre al(-c\'t.n amlysls the firm can determining minimum cost fOr a gwen
level of output,

[t helps the firms in decnclmg which products to be produced and to be bought by ﬁrm
Plant-expansion or contraction decision are often. based on the break-even ana]ysxs of the

© /perceived situation, :
. Inputof change.\ in prxce and costs on pronts of the first can also be analysts thh the help of

break down tecknique. '

The break-even analysis can be used in ﬁndmg the selling price which’ would prove most
proﬁtable for the ﬁrm -
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, The breakeven pomt is-difficult to determme m many instance become of the difficulty in.

properly clasmfymg costs-a$ either ﬁqu ‘OF; var)able and because market condmon may not .
rémain constant over the range of’ prOJected dapamty a o) - BAw YT S

" The breakeven chart is a tool for. short rin analysis it cannot be used for's ar 10 year 5 54"
" projection because of the difficulty of mdlcatmg varxables in each of the costs: lme on; the

chart . . e ' Tad

" The total cost’ hne, representmg the vanable costs added to ﬁ‘(ed costs, need notbe stram’ht '

line, in actual fzct; costs do not usually vary indirect proportion. e av

~ The straight line which represents sales revenue may also misrépresent the true 1aq.ts. =
The. breakeven chart represents a static picture whereqs busmess operations are far from .
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